C:# Multiplying Using Arrays Name:

Usethearray provided to solve each problem. Answers

1) 35%x17 = 2) 39x16 =

1.

, 4.

------- 5

6.
3) 38x47 = 4) 35%26 =
5 37x32= 6) 32x33=
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Multiplying Using Arrays Name: Answer Key
Usethearray provided to solve each problem. Answers
1) 35%x17 = 2) 39x16 = 505
10 7 10 6
: : 624
30 | (30 x 10)[30 x 7 301(30 x 10130 x 6) 1,786
300 ! 210 300 1 180
: : 910
------- 1,184
5 | (5x10) i(5x7) 9 | (9x10){9x6
5035 90 ! 54
1,056
3) 38x47 = 4) 35%26 =
40 7 20 6
30 (30 x 40) (80 x 7) l
1,200 1 210 30 (30x20) (B0 x86)
i 600 1 180
8 (8 x 40) &8 x 7
320 1561 pmmmmmmmmmmes T
- - S (5x20) [5%6
160 30
5) 37x32= 6) 32x33=
30 2 30 3
30 : :
(30 x 30) (30%2) 30 x 0 x
- (?GC (3090030) (3:090 3)
! (7% 30) (7ix(2) 2 oo (3077777 #33)
210 il 60 6
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